Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
5	Glimm, Rylee	M&C Tire	Vandevanter	Vandevanter	1339	\$7.00	\$9,373.00	\$93.73	\$281.19	\$374.92
6	Hays, Kyla	Shawn Hall	Lower Valley Meats	Lower Valley Meats	1420	\$7.00	\$9,940.00	\$99.40	\$298.20	\$397.60
7	Erickson, Taften	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	1391	\$7.75	\$10,780.25	\$107.80	\$323.41	\$431.21
10	Young, Billi	Sandry Construction Co.	Lower Valley Meats	Lower Valley Meats	1440	\$6.25	\$9,000.00	\$90.00	\$270.00	\$360.00
12	Young, Brooklyn	Trail West Bank	Vandevanter	Vandevanter	1385	\$7.00	\$9,695.00	\$96.95	\$290.85	\$387.80
13	Brist, Madison	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	1364	\$7.00	\$9,548.00	\$95.48	\$286.44	\$381.92
20	Siderius, Lauryn	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	1304	\$6.25	\$8,150.00	\$81.50	\$244.50	\$326.00
21	Fields, Bradley	Weyerhauser	Resale	Resale	1157	\$9.25	\$10,702.25	\$107.02	\$321.07	\$428.09
23	Young, Beth	The Brace Place	Vandevanter	Vandevanter	1322	\$7.00	\$9,254.00	\$92.54	\$277.62	\$370.16
24	Olson, Blane	Diamond Plumbing & Heating, Inc.	Lower Valley Meats	Lower Valley Meats	1498	\$7.25	\$10,860.50	\$108.61	\$325.82	\$434.42
26	Siderius, Beau	Flathead Concrete Products	Lower Valley Meats	Lower Valley Meats	1315	\$7.75	\$10,191.25	\$101.91	\$305.74	\$407.65
27	Jewett, Dillon	Les Schwab Tire Centers of Flathead Valley	Lower Valley Meats	Lower Valley Meats	1209	\$9.25	\$11,183.25	\$111.83	\$335.50	\$447.33
29	Wise, Jayla	Schellinger Construction	Lower Valley Meats	Lower Valley Meats	1162	\$7.00	\$8,134.00	\$81.34	\$244.02	\$325.36
31	Fant, Kaylei	Sands Surveying, Inc.	Vandevanter	Vandevanter	1458	\$6.25	\$9,112.50	\$91.13	\$273.38	\$364.50
32	Wilson, Madison	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	1446	\$7.50	\$10,845.00	\$108.45	\$325.35	\$433.80

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
45	Cheff, Tristen	Big Sky Rents	Vandevanter	Vandevanter	1278	\$6.50	\$8,307.00	\$83.07	\$249.21	\$332.28
47	Becker, Naomi	Flathead Electric CO-OP	Lower Valley Meats	Lower Valley Meats	1176	\$7.00	\$8,232.00	\$82.32	\$246.96	\$329.28
48	Rash, Adam	Kalispell Electric Inc.	Vandevanter	Vandevanter	1328	\$9.00	\$11,952.00	\$119.52	\$358.56	\$478.08
49	Clouse, Ryder	Siderius Construction	Vandevanter	Vandevanter	1385	\$7.00	\$9,695.00	\$96.95	\$290.85	\$387.80
50	Tutvedt, Boe	QISG	Lower Valley Meats	Lower Valley Meats	1524	\$7.50	\$11,430.00	\$114.30	\$342.90	\$457.20
52	Hadley, Cash	Pioneer Heating & Cooling	Lower Valley Meats	Lower Valley Meats	1150	\$7.75	\$8,912.50	\$89.13	\$267.38	\$356.50
53	Holtmeyer, Grace	Hammer Bullets	Lower Valley Meats	Lower Valley Meats	1413	\$7.25	\$10,244.25	\$102.44	\$307.33	\$409.77
55	Braaten, Zayne	Swank Enterprises	Lower Valley Meats	Lower Valley Meats	1227	\$8.00	\$9,816.00	\$98.16	\$294.48	\$392.64
56	Parish, Carson	RDJ Brothers Construction	Lower Valley Meats	Lower Valley Meats	1089	\$7.75	\$8,439.75	\$84.40	\$253.19	\$337.59
57	Braaten, Hayden	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	1369	\$7.00	\$9,583.00	\$95.83	\$287.49	\$383.32
59	Giffin, Maggie	Nomad GGS	Lower Valley Meats	Lower Valley Meats	1335	\$6.75	\$9,011.25	\$90.11	\$270.34	\$360.45
60	Giffin, Addy	Dew Drop Inn	Lower Valley Meats	Lower Valley Meats	1441	\$6.75	\$9,726.75	\$97.27	\$291.80	\$389.07
61	Tranel, Carly	Flat Tail Ranch	Lower Valley Meats	Lower Valley Meats	1461	\$20.50	\$29,950.50	\$299.51	\$898.52	\$1,198.02
63	Orvis, Kaycee	Super One Foods of the Flathead Valley	Vandevanter	Vandevanter	1361	\$7.00	\$9,527.00	\$95.27	\$285.81	\$381.08
64	Tuck, Emily	LHC Inc.	Vandevanter	Vandevanter	1410	\$6.50	\$9,165.00	\$91.65	\$274.95	\$366.60

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
67	Johnson, Alexis	Logan Health Medical Center	Vandevanter	Vandevanter	1154	\$7.50	\$8,655.00	\$86.55	\$259.65	\$346.20
68	Morris, Addyson	Kalispell Truss Center	Lower Valley Meats	Lower Valley Meats	1376	\$7.25	\$9,976.00	\$99.76	\$299.28	\$399.04
69	Hankinson, Bryor	Diamond Plumbing & Heating, Inc.	Lower Valley Meats	Lower Valley Meats	1341	\$6.00	\$8,046.00	\$80.46	\$241.38	\$321.84
71	Kuka, Colton	Glacier Precast Concrete	Lower Valley Meats	Lower Valley Meats	1252	\$8.00	\$10,016.00	\$100.16	\$300.48	\$400.64
73	Daken, Westin	Beckman's Real Estate	Lower Valley Meats	Lower Valley Meats	1502	\$7.25	\$10,889.50	\$108.90	\$326.69	\$435.58
74	Daken, Wyatt	Valley Bank of Kalispell	Lower Valley Meats	Lower Valley Meats	1458	\$7.00	\$10,206.00	\$102.06	\$306.18	\$408.24
75	McCracken, Timber	Three Rivers Bank	Lower Valley Meats	Lower Valley Meats	1130	\$6.75	\$7,627.50	\$76.28	\$228.83	\$305.10
76	McCracken, Takeylie	Lodgepole, Inc.	Lower Valley Meats	Lower Valley Meats	1245	\$6.50	\$8,092.50	\$80.93	\$242.78	\$323.70
78	McCracken, Blayze	Harlyn Jean Machining	Vandevanter	Vandevanter	1265	\$6.75	\$8,538.75	\$85.39	\$256.16	\$341.55
79	Morris, Jessa	Measure Law LLC & CHS Mountain West	Lower Valley Meats	Lower Valley Meats	1380	\$6.25	\$8,625.00	\$86.25	\$258.75	\$345.00
81	Boll, Brady	Flathead Electric CO-OP	Lower Valley Meats	Lower Valley Meats	1153	\$7.75	\$8,935.75	\$89.36	\$268.07	\$357.43
83	Boll, Kimber	Hammerquist & Casalegno	Lower Valley Meats	Lower Valley Meats	1439	\$9.00	\$12,951.00	\$129.51	\$388.53	\$518.04
84	Plummer, Sadie	Sliters Lumber & Building Supply	Lower Valley Meats	Lower Valley Meats	1272	\$5.75	\$7,314.00	\$73.14	\$219.42	\$292.56
85	Plummer, Sam	Hill Brothers Auto Body	Lower Valley Meats	Lower Valley Meats	1432	\$7.25	\$10,382.00	\$103.82	\$311.46	\$415.28

Ear Tag	Seller Name	Buyer	Ship To	Processor	Weight	Price	Value	Buy Fee	Sell Fee	Total Fee
86	Plummer, lone	Hill Brothers Auto Body	Lower Valley Meats	Lower Valley Meats	1432	\$7.00	\$10,024.00	\$100.24	\$300.72	\$400.96
87	Chentnik, Guadalupe	Montana State Fund	Vandevanter	Vandevanter	1101	\$7.50	\$8,257.50	\$82.58	\$247.73	\$330.30
	Avg: \$7.51 Min: \$5.75 Max: \$20.50						\$459,297.50	\$4,593.01	\$13,778.97	\$18,371.90